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1.

(D) MNone of these

United Mations has declared at
India’s initiative and with the support
of 175 countries, as
International Day of Yoga.

(AY July 218t

(B} August 219!

(C) June 21

(D) May 215t

Mame the captain of the Indian team
which played first cricket test against
Australia al the Adelide Owval in
Dacambear 2014,

(A) Rohit Sharma
(B]  Murali Vijay
(G} Wirat Kohli
(D} Anil Kumble

10.

JDD-4/PHN/X-15

SECTION - A I

i) General Awareness r
Name the producer of Rajini-starrer film 5. Name the place where Lord Krishna |
'|_|r|ga_'r who was allowed by tha had deliverad In message of Ei’tﬂ.
Madras High Court on 11-12-2014 *;;m:ﬂmgm wrote the epic of ¥
1o 13 Iﬁ%—“ungﬂ" on condition that (A AY";:’TW:' .
‘:lﬁjp ucer deposit As. 10 crore in (B) Dwaraka '
he Lol (C) Hardwar |
(A} Parvathamma Rajkumar (D) Kurukshetra
(B) Balaji Films
(G} AVM Productions 6. Where is Humayun's Tomb located ?
(D) Rockiine Venkatesh (A} Delhi

(B) Agra

Mame the Russian President whom (C) Hyderabad
Prime Minister Narendra Modi met {D} i“-l.ll'ﬁl'}ﬂibﬂd
recently during the World Diamond
Conferance in New Delhi. 7. The London house of the sovereign
(A) L& Yucheng 4 t:H:HBr:IL
(B} Valdimir Putin (A) White House
(C}) Barack Obama (B) Wall Street

(C) Buckingham Palace
(D) Independence Hall

The rainiest place in the world is
(A} Waileale in Hawai

(B} Cherrapuniji

{C} Mount Abu .

(D} Mawsynram

The secretarial of the Russian
Government is located in

(A} Kremlin

(B} Hague

(C) St Petersburg

(D) Samara

Number of rooms In Bashirapathi
Bhavan across four floors is

(A) 300 (B) 340
(C) 350 (D) 250
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A% ST TS AR A At 7 it
w1 w2y fea aiv deamm 3w 1y
&l T R

(A) 2rEmED (B} ZWEI
(C) EiEr (D) e

FATE = WeERET T 7
(A) Tee

(B) =WR]

(C) wamEm

(D) sWmeEE

e & ST N e

(A) TET W=

(B) diwEe

(C) =y day

(D) FEUw BT

o ot we i el weaEf s 2
(A) TTEEC], BATE

(B) =g

(C) wiske 3w

(D) wiREEm

&l win o A gl Ee i
Ay snle

(B} #n

(C) dHaden

(D} HAW

T el = T sfaren | e il §
(A} 300 (B) 340
(Cy 350 (D) 250




13.

14.

15.

A%

12.

Naya Paisa, introduced in India in
. was renamed 'Paisa’ in
1964,

(A) 1847
(B) 1950
(C) 1957
(D) 1960

The year credit cards came o India
(A} 1871
(B) 1981
(C) 1885
(D) 1990

A Chiefl Minister whose pel name Is
Tipu

{A) Akhilesh Yadav

(B} Chandrababu Naidu

(C) Mulayam Singh Yadav

(D) Karunanidhi

Home Rule League was launched by
al Madras in 1915.

(A) Fajaram Mohan oy
(B) Dada Bhai Naoraiji
(C) Annle Besant

(D) None of these

Full Indian Constitution came Into
farce on

(A} 15-8-1974
(B) 26-1-1950
(C) 30-1-1548
(D) 2-10-1869

16.

17.

18.

T8
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AlDS is caused by a
(A) Bacteria

(B) Protozoa

{C} Haelminth

(D) WVirus

Who amongst the foliowing was a
blind poet who worshipped Krishna
and spread Krishna Bhakti cult ?

(A) Surdas
(B) Biharl
{C) Kabir

(D} Raskhan

Which of the following Is correctly
matched 7

(A) Koltayam — Kerala
(B) Trichur — Karnataka
(C) Tanjavur— Gujarat
(D) Purl— Assam

The vaccine against polio was

developed by -
(A} Jonas Salk

(B) Edward Jenner
(C) Louls Pasteur
(D) Fleming

The Vitamin that helps in blood
clotting is

(A) Vitamin C

(B) Vitamin D

(C) Vitamin E

(D) Vitamin K
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Ax

., faE ame | # T

o, 3R 1964 9 T A
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(A) 1947

(B) 1950

(C) 1957

(0) 1960

78 7 e 1 e = ) e vl
(A} 1971
(B) 1981
(C) 1985
(D) 1980

2 v e ot o gE A R

T 1915 4 ) |
(A) TR AR T
(B) =ren W Ayl
(C) v
(D) o83 = T

Ty HiEUE gl 34 faa 8w e
(A} 15-8-1974
(B) 26-1-1950
(C) 30-1-1948
(D) 2-10-1869
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A (AIDS) & = 2
(A) =l

(B) g

(C) Weifa

(D) =rH

Fad e ) s o, deo
T IT FAA @1 S I )
q9 =] e 7

(A} HEW

(B) T

(C) *FEl

(D) TwEmm

P dasmdiad o e
(A) iEmH -

(B) Eg-wals

(C) et~

(D) gfi-3wm

wTfeR &7 2 gae Tt R
(A) TE TTeH

(B) uEAE S

(C} wERTHE

(D}

T = 9 1 48 el wems e
(A) TEREE
(B) Fifi= &
(C) Tarfmd
(D) FE=iEEF

A
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ii} General Intelligence and Reasoning Ability

Directions : {21 — 22) : Which alternation
| cannot be formed by using the letters of the
| given word 7

INTEGRAL

(A) TRIANGLE
(B) RELATING
(C) ALEATING
(DY ENTREATY

RAPPROCHEMENT
(A} REPROACH
(B) REPRESENT
(C) PHANTOM
(D) CEMENT

Of the six members sitting In a row,
‘X' Is the left of 'Q' but on the right of
‘P, '¥" is on the right of 'Q" but is on
the left of ‘2", ‘2 ig to the left of 'R",
who are at the extreme ?

(A} Qz

B XZ

(C) ay

(D) PR

Which one of the following is correct 7
G+4-9+15

(A) x=—

(B) =,— =

(C) =%~

D) —x=

If PALE Is coded as 2134, EARTH is
coded as 41590, how Is PEARL
coded in that code ?

(A) 29530
(B) 25413
(C) 24153
(D) 25430

26.

if “+" means "x", " means " ", "x"
means "=, ‘%" means "+",
9+B+B-4x8=17

(A) BS

iB) 26

(G} 17

By 1"

Choosa the one which does not
belong to the group of the other three.
[A)  Intentional

(B) Undesigned

(C) Deliberate

(D) Contemplated

In a certain code language ‘526
maans "sky is blue", '24' means
"blue colour” ‘438" means “colour Is
fun”. Which digit in that language
mean “fun” 7

(A} 2

(B) 3

(C) 4

Dy &

Bipin is taller than Ramdas who is

shorter than Ashok. Mohan is tafler

than Shankar bul shorter than
Ramdas. Ashok |s Shorter than Bipin,
Whao is the shortest ?

(A) Bipin

(B) Ashok

(G} Ramdas

(D) Shankar

In & certain code, number 13479 |s
written as AQFJL, and 5268 is written
as DMPN. How is 396824 written in
that code 7

(A} QLPNMJ

(B) QLPNMF

(C) QLPMNF

(D) QLPNDF
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ii) wrveT= w e men afehes avaan
g2 -2% R fhn . fd s daedia | 28 9fR 4" = e Sk B, 0 ) geea
e fase =l wrn o a7 "4 "B, " 1 Ao - L
e e, M9 +B8+B—4xG=7
21. INTEGRAL (A) 65 (B) 26
{A) TRIANGLE c) 17 (D) 11
(B) RELATING - ; _
(C) ALERTING 27. AR T % GHE H @ T # |
(D) ENTREATY TF |
(A) whim
22. BAPPROCHEMENT (B) InimEEd I
(A) REPROACH (C) PR
(B} REPRESENT D) ife
(C) PHANTOM AR
(D) CEMENT 28, 1 Hiran g2 w526 i wwes 2
'sky |s blue' ‘24’ &1 AoeE & ‘blue
23, FMABEUIRE I A HOREE, X TR colour' 31 '436' %1 Hie 2, ‘colour
Q' & AR g W P & g 3R s fun’ | 38 1 7 ‘un’ 3 Bre S
gy mo Fafhamdwg 'z WP 7
wanfi s’z 2 'R FaE | (A 2 (B) 3
T HFAR 7 {cy 4 (D) &
iy @ o) KE 20, fafts oz toem & S @ S s @
(G} QY (D} PR 71 8 | °iEe T w8 S § o
. T @ 121 | 3991 T2 fa e 8 e
24 Fodfsmadiy’ B P
B+4+9-15 ) R 8) S
UN %= £ B (c) TEm (D) T
(C) =%- D) —x=
5 doneainmimia | O TEOEISG
EARTH®1 41590 ferad &, f PEARL w2 # 306804 31 %3 R ridem 7 '
F1 39 e # 39 Topar s 7 Ay OLPNMY '|;
). =530 (B) QLPNMF
(B) 25413 (C) QLPMNF
(C) 24153 (D) QLPNDF
(0) 25430
Aw ‘
lI
|
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A

How many 9s are there in the
following sequence which are
preceded by 5 bul not immediately
followed by 4

18650495973694250475
(A) 2
(B) 1
{Cy 3
D) 4

Which word cannot be formed from
the letter of “COMFORTABLE" 7

(A} FORCE
(B] MARBLE
(C) INFORM
(D) TRAM

If you write all the alphabets from A to
Z In the reverse order, which will be
the letter to the immediate left of M 7

(A) N
(B} L
(C) ©
D) K

It ACEG : GECA :: PRTV: 7
(A} TVRP
(B) VTRHP
(C) TRVP
(D} VTPR

6 1"
12
15

14

k- N
= @ —= 3
L =3 @ 3

.
-3
o
N

(B) 7
(C) &
2y 2

37.
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School is related to Headmaster in the
same way Bank is related to

(A} Branch

(B) Manager

(C) Children

(D) Players

4,6,9 13,18,24, 7
(A) 32
(8) 29
(C) 36
(o) 31

A, B, C, D, E, F are sitting in a circle
facing the centre. B is sitting
diametrically opposite to F, A is the
neighbour of B and C. E is the
nalghbour of D and F. D s siiting
immediately to the right of B. C is to
the right of F.,

Who Is sitting diametrically opposite
oD ?
(), E
(B) F
(C) C
D) A

A is the father of B. C is the sister of
A and D. If D s the father of E, how is
D refated to B ?

(A} Uncle

(B) Brother-in-law

{C] Mephew

(D) Father

P travels 6 km to the North, from there
5 kmto the West, from there 11 km fo
the South. In what diraction is he now
from the starting point 7

{A) South

{B) South-West

(C) South-East

(D) East
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o v 2 o 03 e Fem)

5 W AT E Al ag § 4 48] e 7
18656849587 36942508475
(A) 2

(B} 1

(C) 3

(D) 4

“COMFORTABLE" 1eg o #&i) 1 §
HHT 5 AR A A a7

(A} FORCE

(B) MARBLE

(C) INFORM

(D} TRAM

afg 39 A H ZFviarEn 392 F9 1 o
&, 71 M 3 e =t 390 o e
LA
(A) N
(B) L
{C) O
0y K

gft ACEG : GECA :: PRTV : 7
(A) TVRP
(B) VTRP
(C) TRVP
(B} VTPR

a M
g 12
T 16
2 14

37.

39,

40.
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T\ W School 98 Headmaster
¥l 8, 3 vEn Bank
e 7

(&) Branch

(B} Manager

(C) Children

(D) Playars

4,6,8, 13, 18,24, 7
(A} 32
(C) 36

(B) 28
(D) AN

A, B, C, D, E, F 7% g% § %% i 3
e B 42 § | B 78 F % sanfg
fedle @218 1 A 9% B 37 C =7 9=hdt
RIEmDsMFF 8 IDTEBS
gﬁfﬁ'ﬂaﬁnﬂmtmﬂr&mﬁﬂ
R

D% =nfta Aefmsm a7
{A) E (B) F
{C) C (D) A

ATE a8 % fom® icawa sfp® e
TR DmEF M MOowBE
AR T

P a8 I 41 1 6 km Fr &, i @
offan &1 & km, 781 3 2w A #6R8
11 ke =11 | smifie g & s =
i R A R 7

(A) afr

(B) Bm-afrEm

(C) =iy

(D)

=g
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i) Arithmetical and Numerical Ability

Tha arithmetic mean of a set of 20
observations is 15.8. The arithmetic
mean increases by 0.4 when a new
obsarvafion is added to the set. The
new obsarvation is
(A} 15.8

(C) 24.2

(B) 20.4
(D) 22.4

If the fellowing data is to be
represented In a Ple diagram.

Males Females Girls Boys Total
2500 2000 4000 1500 10000,
then the angle of the sector

corresponding to Boys is
(A) 38° (B) 54°
(C) 64° (0 &0°

Tha numbers 3, 5, 7 and 9 have their
respective frequencies x-2, x+2,
*=3and x+3. If the arithmatic mean is
6.5, then the value of x is

(A) 3 B) 4

C) 8 (D) 6

A circle of radius 6 cm touches two
concentric circles and encloses the
smaller of them. If the radius of the
larger of the two concentric circles is
8 cm, then the radius of the smallar
one is

(A} 2em
(C) 4em

(B) 3cm
(D) Secm

It the angle subtended by an arc of a
circle at its centre is 627, then the angle
sublended by the same arc on the

remaining part of the circle is
(&) 30° B a1°
() 32° (D) 38°

48.

47.

48,

The heights of two cones are equal
and the perimatars of their bases are
in the rafio 3 ; 4. Then the ratio of their
volumeas is

(A} 3:4

(B) 9:16

(C) 4:3

(DY 16:8

The sum of the internal angles of a
regular polygon of 'n' sides, when
expressed in right angles is

(A) 2n-4

(B) n

(C) 2n

D) n+4d

The harmonic mean and Arithmaetic
mean of twe numbers are 4 and 9
respectively. Find their Geometric

mean.
(A) 5 (B) 65
iC) 6 (D) 5.5

If a certain sum of money becomes
double in 12 years at simple interest,
what will be tha rate of interest per
annum 7

1
{B) 10%
(C) 12%

(D) None of these

The difference betweaen two numbears
is 05 and thelr sum s 65. What will

be thair product ?
{A) 1080 (B} 325
(C) 750 (D) 600
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i) SreRTTTOTA TS TE e T

20 IFEFE1 o THE T JOTHH HIey
15.8 B | a2 mqe | ws w41 saeitEA
ATl A B, 79 AT A 0.4
T Bl R | A e §

(A} 15.8 (B) 20.4
(C) 24.2 (D) 22.4
Fre e =t wyg s O anlar 2, A

T w wgledl #@8% Fd
2500 2000 4000 1500 10000

TS| o &1F 1 HIVT 35k L BT
(A} 36° (B) B4°
(C) 64° (D) B0

3, 5, 7 311 9 Gl =l HH: TRARA]
Ex—2 x+2 x-33fx+315R
S AT 6.5, M xF e
(A) 3 (B) 4

€} 5 D) 6

6 cm Bren = va 3w 2 g el =)
vl A # s 3 A e gn i
dme AR B gTi d @ a2 aw
#tBen g ems, Mg i B @
(A} 2cm (B) 3cm
(C) 4cm (D) Scm

U 4 % g A 99 % Hem W Ak
T s 62° 8, dadi ga A g9
o wh! fed o st i o @
(A) 30° (B) 31°
(C) 32° (D) az°

“11-

L _ ;

46.

47,

49,

2 Tt i o v 2 o T
T ol I 3 « 4 3T 3§ | 3 T
I E
(A) 3:4
(C) 4:3

(B) 9:16
(D) 16:9

'n qEstaTE uw faoiie awgw &
At F & dm w1 W g

e s B am R
(A) 2n-—4 B) n
(C) 2n D) ne4d

T7E & HENAl F g oy 2l
PR W1 50T 4 RO R, Al 39
s o wea B
(A) &
(C) 6

ofe w FifTaa T a9 s w w1
a9] & g @t R, 9 o o sm
(ETEIk-A

(B) 65
{2y 55

1
(A) E'ﬁ%

(B) 10%
(C) 12%

(D) THE =

21 T #5058 o s am
658, T I U =1 i 7

{A) 1050 (B) 325
(C) 750 (D) 600
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J2m 70 !
28 1
A = (B) EE
16 2
© = 0 %

A:B=2:3,B:C=2:5A:B:C=7
(A} 2:3:5
(B) 4:6:15
(C) 3:2:5
(D) 4:6:5

A shopkeeper sells two radios at
Hs. 1,540 each. On one the gains
12% and on the other ha loses 12%.
What was the net result of the sale of
both the radios 7

{A) Neither loss nor gain

{B) Gainof Rs. 165

(C) Lossof Rs, 45

(D) None of these

2 3 5

H.C.F. of 3'E and 5 s

12 15
{A) 24 (B) 2g

51 1
© 15 ®) 75
239F (1617 _,

239-1.61

(A) 4 (B) 2.69
{C) 391 (D) 4.21

56,

S7.
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A number 4.0 Is wrongly read as 4.48,

Find the percentage of error
(A) 0.48% (B) 12%
(C) 4% (D) 6%

A can do a work in 80 days and B in
100 days. They work together for 20
days and then B goes away. In how
many days will A finish the remaining
work 7

(A) 40 days (B)

(C) 43 days
It 25 horses consume 18 quintal In

36 days, how long will 28 quintal last
for 30 horses 7

42 days
(D) 44 days

2
(A) 467 days

(B) 42days

2
(C) 457 days

1
(D) 43-5 days

Calculate the difference between the
compound interest and simple
interast on Rs. 10,000 in two years at
5% per annum.

(A) Rs.50
(B) Rs.200
(C) Ps. 25
(D) Rs. 75

Find the least number that must be
subtracted from 2433 so that the
remainder is a perfect square,

(A) 22 (B) a2

(C) 42 (D) 33
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34 196
J289 70
28 1
(A & B 23
16 2
© = (D) 5

ot A:B=2:3%,B:C=2:50 @
A:B:O=T7
(A) 2:3:5
(C) 3:2:5

(B) 4:6:15
(D) 4:6:5

U LR &1 {fEGT F1 %, 1,540 7
e o 71 W A B | e e

12% 1 HATH ¥ @ #W g6 W I
12% Fref ot ¥ | 290 1 Rl
1 e Ty
(A) ER TR R AE
(B) ¥. 165 1 TS
(C) %. 457 g
(D) w7 & wrd e
L S5 Y.
) 5 B 5
© 5 (D) %
(.39F - (1.61F _,

2.39-1.61
(A) 4 (B) 2.69
(Cy 3.91 (D) 4.21

13-

a7.

59.
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T 4.0 5 1 Mol @ 4.48 T2 T

ufaTa e %1 TaT it |
(A) 0.48% B} 12%
(C) 4% (D) 6%

o FW A% 80 &A1 9 3w B 2= 100
ot o | 2 w1 98 w5 20

T 7 AN T2 H B BIEE g i |
A TR FM e fedi i a2 ¢
(A) 40fm (8) 42fA
(C) 4afi= (D) 4afH
Ife 25 912 18 fFres 36 fel d @ @
i 28 fFeeer 30 9T % fow fem fm
= Tere e = 1
(A) -ﬂigﬁq (B) 42f
452 fm 43 £
(C) 453 (D) 435

%. 10,000 T W S 91 =15% T=ats
W T O =4 W AR

(A) %. 50 (B) % 200
(C) ¥ 25 (D) . 75
2433 H H U =Een d@en we R,
forit T & s afel e s i 7
(A} 22 (B} 32
(C) 42 (D) 33
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iv) Test of Language : Hindi

wiTat ofta : &=
oA : Fefafes i Femam g | ga w
it @ ek HH) I e e |
61 & 64 1= # m w=al = wel = = 1) 558
ferfem | (B) w=h
(A g _
(D) @
(B} A
(cy =i "
65, 3THHN FEE 1 w1
(D) AR e

Rl (B) 3
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| 718 72 o1 71501 & WEETEE w9 w9 ferfgn |
. Tl |
71. TR0
g7, iEs
(A) T (A) et
(B) = (B) @A i
(c) Tefaa “
(c) &t .
D) e -
| (D) J
(D) T
68, iEa
(a) TR
(8) ufEa 72, wifad
:E; ::T (A) A
(B) W
BY. T E MW W A g de i
(B) (D)
(C} =m
(D) u=
73, ‘ieE 1 Aaledw e
70, 1 96 | & v o wam e e # ,
EE TS FEd B | .
(A) =g (B) wiea ._
(8) (C) W
(cy fEn
(D) T s ()
A 15




74. (A)
{B)
(C)
(D)

75. (A)
(B}
(C)
(2]

bicasmiipiie g Rl
Tt TR o AT 97 |
bemikicnika bl
Tl TR T WS 41 |

ITEE e 29 = A=EETE |
wiha fre 3o s
e T T SreEaT |
v frm Ea ) smEm R |

76. FHAAR I EEmEi =l

(A)
(8)
(C)
(D)

77. o Faf wem 9 e wnel

TR
HTETH]T
HETHI
HETIMI

wim |
T TEATER |

(A)
()

=l
Es

(© #
(D) &
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78, 79, 80

Frefrfiga meriw = geet B o vt & wdh
o T |

FAEAT T AN HETE fole] & s AHEm TE |
g1 Ims fom 0 am dwen 3w w7 am
T 91 | FAwaTE o S o] AW e
o1 | &2 ¥ & =2 o = w1 @ed 5
v wE foren | e A wn an) o ae a8
forren 3 it F wte B ) w1 fom smm am
FrharE T |

78, FAFSWEITH ARSI
(A) o=t
(B) FAF
(C) wwanE e & e i
(D) e

79. TG & aaT WA
GV i
(B) Femom
(C) ==l
(D) AT

80. FETmEISHA G fien)
(&) E T HE
(B) wET =
(C) #R=FIER
(D) TEHFER
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v) Test of Language : English
T T ;S

Direction (Qs. 81 — B3) : ldentify which part 85. Perlodic
(A), (B), (C) of the sentence has an error. |f
: : (A) Recurrent
there is no error, your answer in (D)
(B) Regular
B1. Kiran asked the dealer (A)/what was (€} Systematic Ti
the price of that by cycle (B)/and
whether it Is really made In Germany (D) Incaiculable ﬂ
i (C). No error (D)
' Direction (Qs. 86 — 87) Choose the word
82. loffered him part-time work (A)Buthe | \wnich is most nearly the same in meaning
turmed it over saying that (B)/he would e
rather wait for a full-time job (C). No
arror (D)
B6. Reckless '
83. Molone of the children have ever sung (A) Careful
{(AVon any occasion (B)in public e |
before (C). No érror (D) (®) .
(C) Rash
Direction (Qs. 84 — 85) : Choosea the word ‘
which is most opposite in meaning to the (D) Cautions '
given word.
! B7. Obedience
84, Empower
(A} Submission .
(A} Enable I’ 4
B} Rasista
(B} Disable (B}, Fpestance |
P— (€) Rebellion i
| (D) Encourage {0} Violation
A= 17




m—

|

|

Direction (Qs. B8 —-89) : Choose the misspelt
word.
88. (A} Compassionate

(B) Uniawfull

(C} Enthuslastic

(D) Disgust

89, (A} Indecisive
{B) Grammatical
(C) Viclance

(D) Avenge

Direction (Qs. 90 — 91) : Find the correct
word for each expression,
90. A Remedy for all Disgases
(A) Stoic
(B) Panacea

(C) Recoil

(D) Insolvent

an,

JDD-4/PHN/X-15

Incapable of being seen through
(A} Obsolete

(B) Medieval

(C) Incur

(D) Opaque

Direction (Qs. 92 — 95) : Fill in the blank
using the proper alternative.

92.

93.

Chaitra looks the sapling
as if it were her own child.

(A) owver
(B) for
(C) at

(D) afer

It has Been obsgrved that income
has widenad between urban
and rural areas.

(A) tax
(B) accrelion
(C) disparity
(D) trait




gr.

Aw

The next meeting is 15
April.

(A) al

(B) on

(C) by
(D) in

We arrived
time.

(A) at
(B) on
(C) in
(D) by

__ the station in

How selfish thay are |

The above sentence |s afan
(A) Assertive sentancae
{B) Interrogative sentence
(C) Exclamatory sentence
(D}  Imperative sentence -

What type of pronoun s “himself" In
“He himself goes there" 7

(A) Interrogative
(B] Indefinite
(C) Relative
(D) Emphatic

-19-

o8.

100.
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A verb which has, or desires to have

an object is called a _ verb,

(A) Transitive verb

(B) Intransitive verb

(C) lrregular verb

|

(D) MNone of these

Plural of ‘mouse’ is

(A) mouses

(B} mousa

(C) mice

(D) mouces

Past tense of ‘choose' is

{A) Chosan

(B} Chosa

(C) Choosen

{0} Choice

—




101.

102.

103.

104,

SECTION -B
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Post Specific Subject-Related Questions

The natural pacemaker of the hearn
s

(A} AV Node

(B) SA Node

(C} Purkenjie Fibre
(D) Bundie of His

Mitral valve is also referred as
(A) Tricuspld valve

(B) Pulmonary valve

{C) Aortic valve

(D) Bicuspid valve

The gland that is located below
Hypophyseal Fossa of Sphenoid
bone is

(A) Adrenal gland
(B} Thyroid gland
(C) Pituitary gland
(D) Thymus

The 10" cranial nerve is
(A) Abducent

(B) Vagus

(C} Facial

(D) Hypoglossal

105.

1086.

107.

108.

The middle layer of meninges Is
(A) Dura mater

(B) Piamater

(C) Arachnoid mater

(D) Choroid Plexus

The largest artery of human body is -
(A} Aora

(B) Carotid Artery

(C) Subclavian Artery

(D) Pulmonary Artery

The anterior transparant part of the
aye is

(A} Pupil

(B) Conjuncliva

(Cy Cornial

(D) Sclera

Identify the hip bone from the
following

(A) Femur

(B} Humerus

(C) Innominate

(D) Sacrum




101,

102.

103.

104,
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-
uez vifafirs Bra-dad o A
72 = Al nfafeken g 105, w1 o1 ey et
(A) AV aFE (A) Duramater |
(B) saufE (B) HgaTHE
(C) T A (C) Arachnoid mater |
1
(D) === a1TF Bl (D) Choroid Plexus
n
firzet aTen (Fare) i 4e ol wen & 106, W S & sreis we a8 |
(a) T e (A) TEm
(B) FrpHME A (B) e awl
(D) T w2 (D) gt
s & AR W (W) | 07, sttt smad] e et
& 4= fem o= R e
(A)
(A) wiftges i
(B) EgeErsHE
(B) wEgufa
(C) w==awvEs (cornial)
(C) wgu-afa
(D) FEaTEA
(D) wEHd
108. Py it | s i weanfi
10 warefta e
FA e
(A) ST W
B) wiivEs
(B) ¥TH (vagus) v
i (C) W
) D) Faafs
(D) EETrEEE (0}




110.

111.

12

. The pH of blood is

(A) 6.4
(B) 7.4
(C) 7.8
(D) B8

Life span of RBC's is
(A) 120 days

(B) 80 days

(C) 200 days

(D) 60 days

The average Hb content of human
blood is

(A) 18-23 g/dl
(B) 14-16 g/dl
(C) B-10gel
(D) 16-20 g/di

The effect of Anti Diuretic Harmone
(ADH) is

(A) Oliguria

(B) Anuria

(C) Increased urine output

(D) Decreased urine output

113.

114,

115.

116.

JDD-4/PHN/X-15

The collapse of the alveoll is
prevented by

(A) Cilia

(B) Mucus

(C) Surfactant

(D) Pleural Fluid

The average tidal volume is
(A) 500 ml
(B} 250 mi
(Cy 150 mi
(D} 600 mi

Differentiate the essential amino
acid in the following

(A) Proline
(B} Tyrosine
{C) Glycine
(D) Valine

Synthesis of glucose from
non-carbohydrate source Is refermad
as

(A) Glycolysis

(B) Gluconeogenesis

{C) Glycogenolysis

(D) Glycogenesis




110.

111,

112,

(B) 7.4
(C) 7.8
(D) 6.8
RBC %1 = %1 )

(A) 120 f&m
(B) BORA
(C) 200fA
(D) sOFA

WA T 3 3Ea Hp R R 8

(A) 18-23 g/dl
(B) 14-16 g/d
(C} 8-10g/dl

(D) 16-20 gidl

i A BT (ADH) &1 i &
(A) sfeitf

(B) i

(C) T = 2Ta 3e9E

(D) TA &1 %Y IeTEA

113

115.

116,
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e (alveoll) 1 & BT, 3698 T
A2

(A) TiftrERr

(B) TEE

(C) W= (surfactant)
(D) O

sfveret =refie (et AT @

(A) 500 mi
(B) 250 mi
(€) 150 ml
(D} 600 mi

ST T TR o1 s T ahifarg
(A) ST

(B) TR

(C) T

oy 9fm
H-HHEELE HIe o WF & gyermu
1 e &

(A) TETERTTTRE

(B) R

(C) ToTIHATeToH

(D) ETEERRHRET

- —— ]

-_ ' . i
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118.

120.

BMI greater than 10 is considered
as

(A) Overweight
(B) Bulimia
(C) Obese
(D) Stout

The pressure set in autoclave for
sterilization Is

(&) 151b
(B) 5lb
(C) 101b
(D) 201b

The transmission of infection from
the mother to the foatus through
placenta |stermed as

(&) Latrogenic

(B) Teratogenic

(C)] MNosocomia

(D) Fomites

The immunoglobulin found in
mother's breast milk is

(Al lgA

(B) IgM

(€} gD

(D} IgE

121,

122,

123.

124,

JOD-4/PHN/X-15

Widal test is performed for identifying
(A) Clostridium

(B) Salmonella

(C) Staphylococcus

(D) Meningococcus

Schick’s test indicates the infection of
(A) Measies

(B} Mumps

(C) Diphtheria

(D) Rubella

Rice water stools Is observed in
(A) Typhoid

(B) Cholera

(C) Food poisoning

(D) Amuah[f: dysantary

The infection which is acquired from
animals fo human s

{A) Plague

(B) Polio

{C) Partussis

(D) Malaria
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119,

120,

. 108 iTaes BM)| 1 98 5HT F7 &

(A)  Hfir aem

(B) i

(C) +HE

D) w1

HEweE H s T e de

(A} 151b
(B) 5lb

(C) 101Ib
(D) 20ib

& & 2 A o e e
T ] A B

(A) gRiiR

(B) b

(C) i

(D) HmTEH

ot & g9 § EHaETen SEATHIE o &

(A) IgA
(B) lgM
(C) IgD
(D) IgE

121.

122,

123.

124,
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=T (Widal) wrismr 3oeh! wese & fian,
ICIEGIE

(A) e
(B) T

(C) =EfirmEmEy
(D) AT

W (Schick) =1 9hew 98 SFEmw ' T|
Bt

(A) mEO

(B) =Fual

(C) Tesfraian (fv)

(D) @

TTEE i T SH] T T o =R
(A) ZIEPES

(B) =HTew

(C) Tt 351

(D) swfidi ufem

wiford & smaftedl § srEEn gEmm R
(A) =

(B) Tfergi

(C) wfew
(D) wefE




126.

127,

128.

Syphilis is caused by

(A)
(B)
(€
(D)

HIV
Papilloma
Neisseria
Treponama

Malaria infection can be transmitted by

(A)
(B)

(€)

(D)

Blood transfusion
Bite of
anopheles mosgquito

infected femals

Vertical transmission through
placental defect
All of the above

The most common cause of Urinary
Tract Infection (UTI) in community is

(A)
(B)
()
(=}

E.coli
Klabsialla
Citrobacter

Proteus Vulgaris

Hookworm penetrates into the body by
panetrating the skin of

()
(B)
(C)
()

Hand
Foot
Ear

Head

128

130.

131.

132
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The common cause for bacterial
sora throal is

(A} Streptococcus pyogenes
(B} Mycoplasma pneumonia
{C) Comybacterium
(D) Mycobacterium

In lumbar puncture, the needle is
inserted between

(A} L3-L4
(B) Li-L2
(C) L4-LS
(D) L213

In Babinski's reflex the movement of
great toe undergoes

(A) Dorsi extension

(B) Dorsi flexion

(C) Plantar flexion

{0} Plantar adduction

The position commonly used for
pelvic surgeries is

(A} Trendelenburg

(B) Sim's position

(C)y Prone

(D) Supine




126.

127.

128.

A=

. Teftsferg =1 w2

(A) EETEE]

(B) et

(cy Ffen

(D) T
Tedfa 1 HaRT Sl 7
HEATR

(A) FfER AT

(B) wWrET v wea S

(C) EEFIMY AT A
THITE

(D) Futendt

e H qE & HEE (gied e
TR ) ST ST S

(A) E.coli

(B) Klebsiella

(C) Citrobacter

{D) Proteus Vulgaris

i vl el ) 7
Eanik-

(A) =M
(B) Y
(C) *M

(D) fr

129,

130.

131.

132,
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Fer2 e T -vve o 3w
(A) Streptococcus pyogenes
(B) SIS AT

(C) =iFaRimm

(D) W

R e A HY 5 i
(A) L3-14

(B) Li-L2

(C) L4-L5

(D) Le2-L3

atfeh) & frete O e 2y o e
(A) ErE R

(B) Ewel ST

(C) WA = -

(D) e whyade

atef = 3gam s e 7

(A) FEermEl
(B) = farfa

(C) W (wmeEw)

(D) FEM




134.

135.

136.

The apex beat is felt at which

intercostals space ?

(A)
(B)
(C)
(D)

,E_ﬂ'l

The fasting blood sugar value is

(A)
(B)
(€)
(D)

70-110 mg%
50-90 mg“s
120-180 mg
180-200 mpe

Bleeding from the nose is lermed as

(A}
(B)
(C)
(D)

Hyperamesis
Haemoptysis
Haematemeasis

Epistaxis

The colour of bag in which the
infectious solid wastes are disposed is
(A}
(B)
(C)
(D)

Red
Biack
Blue

Yallow

137.

138.

139.

140.
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The compression toventilation ratio
in CPR in case of single rescuer is

(A) 52
(B) 15:2
(Cy 30:2
(D} 2:30

One tablespoon is equal to
(A) 5ml

(B) 15 mil

(C) 30ml

(D) 20mil

In triage yellow colour indicates
(A) Emergent

(B) Urgent

(C) MNon-urgent

(D) Dead

An intentional touching of the
patient's body without consent is
termed as

(A} Negligence

(B) Assault

(C) Battery

(D) Malpractice




133.

134,

135.

136.

A=

TS | T TR0 e BT E
(A) 70-110 mg%

(B} 50-90 mg

(€) 120-180 ma%

(D) 1B0-200 mg%e

T H e THEHE T Fed &
(A) Hyperemesis

(B) eHrifaE

(C) whemiEE

(D) uRadRE

Torm &4 1 i 2 argfime = Froem
g s B sER T EET R

(A) =
(B) e
(C) em
(D) iten

137.

138.

138,

140.

JDD-4/PHN/X-15

U FEE & Heed ¥ CPRY g H
HeT &1 ST B

(A) 52

(B) 152

(C) 30:2

(D) 2:30

T Tl T S A
(A) 5mi
(B) 15ml
(C) 20ml
(D) 20m

2 (triage ) W ien w1 =wiaT @
(A) i

B T+

(C) #-T=

(D} IR

W R WA & TR F I
o =t we S F D B

(A) CIREATR
(B) ®Hel
(C) ==h

(D) =R




141,

142.

143.

The style of leadership that dominates
and commands the group is

(A) Autocratic

(B) Democratic

(C) Shuational

(D) Lalssez-faire

Abnormal lateral deviation of vertebral
column is

(A) Lordosis

(B) Kyphosis

(C) Scoliosis

(D) Osteoporosis

The abnormal dilatation of the wall of

an artery is referred as
(&) Aneurysm
(B) Hernia

(C) Atherosclerosis

(D) Phiebitis

144,

145.

146.

147.
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The injury which nerve leads to
* Wirist Drop” ?

(A) Axillary nerve

(B) Median nerve

(C) Radial nerve

{D) Ulnar nerve

The paralysis of both lower limbs s
known as

(A} Hemiplegia

(8) Paraplegla

(C) Monoplegla

(D) Quadriplegia

Bell's Palsy is due to the injury of
which cranial nerve 7

{A) Trigeminal
(B) Facial

(C) Trochlear

(D) Hypoglossal

The urethra which opens on the
dorsal surface of the penis is termed
as

(A) Epispadiasis

(B) Hypospadiasis

(C) Criptorchidism

(D) Anorchidism
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142,

143.

141.

TR ) Al I e W e
37 A et B, Tw @

W T

(B) ww

(C) wifEfd srgEa
(D) wEEEd

FITER] T o1 S Tt e
L

(A) whEfm

(B) e

(C) whiferfen (Trefsmsmn)

(D) TR

el o ot 3 o e S
(A) Tafem (Aneurysm)

(B)

(C) el wfa

(D) T

144,

145.

1486.

147,
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FarmdiEea R eme e
(A) ity =g

(B) HeIH TR

(C) =t wrria =g

(D) s H

At et o0 & o Frwea f

(A) s

(B) SAPIEE

(C) THITER

(D) =EPTEE

< T 4% T wet e e
A

(A) Fw-dfm
(B) =R
(C) =i
(D) W

Fivem = 42 e 2 g e
Fea d

(A) wfmEnfEmfEE
(B) EEmTZARE
(€) Feveififesm
(D) weii:fm




148,

148,

150.

151,

The hyper secretion of growth
hormone leads o

(A}
(B)
(€
)

Crelinism
Myxoedema
Acromegaly
Grave's ulseases

The complaint of Insulin secretion is
noticed In

(A) Type | diabetes
(B}
(C)
(D)

Type |l diabetes
Secondary diabetes
Diabetes insipldus

The inability to read small words held
at usual distance Is a primary featuns of
(A} Myopia

(B) Astigmatism

(C) Prasbyopia

(D) Cataract

Moon face with central obesity is
noticed in

(A) Addison’s disease

(B) Cushing's syndrome
(C)
()

Down syndrome

Turner's syndrome

152.

153

154.

155.
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Kemig's sign is a striking feature of
(A)
(B)
(C)
(D)

Meningitis
Naphritis
MNeuritis

Dandritis

Colle’s fracture refars to the injury of
{A) Shaoulder jaint
(B) Knee joint
(C) Wrist joint

(D) Elbow joint

The lack of oxygen supply 10
Myocardium of heart leads 1o

{(A) Fibrillation
(B) Heart fallure
(C) Angina

(D) Infarction

Any disturbance that blocks the
transmission of nerve impulsa from
SA node downwards is known as

(A)
(B)
(C)
(D)

Heart block
Heart atiack
Merve block
Cardiac arrhythmias




149,

150.

161,

A=

e g & s gema g
(A) HH

(B) el

(C) sTaamTef!

(D) Ta T

vy s Yt Freme g 2 s
L4

(A) VI WHE
(B) 29Il wygHsE
(C) Ffa=ayns
(D) TEEE

TR 0 B WY SR & Teel H e
# Frandar € 3o s e ¥

(A) Fregfe
(B) FRAw=
(C) FgezEm
(D) wifemfae

T S e 7w v e gai
AT S #

(A) FEmRFIIM
(B) = % fgTm
(C) s fggim
(D) T TEim

152.

153.

154.

155.
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7 T e e e S
(A) T

(B) FFHIY

(C) AEwIIY

(D) EfEhw

FIF W W g
(A) = FHE

(B) HeA HI WIS

(C) et = sig

(D) wiEAITAE

WEd ¥ qETERETN (gEEy) wi
ST = T A 8

(A) IR

(B) w54 A%

(C) i

(D) sHfireivy

#78 oft e s SA 1R & AR ¥ oin
= THT % IR ) Sl & 6 w5 2
(A) B3 Y

(B) w=gTEm

(C) ==Y =iy

(D) Cardiac arrhythmias
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158.

158,

f LB

The erosion of mucosal layer of

stomach muscle s termed as
(A) Ducdenal ulcer

(B) Gastric uicer

(C) Chron's disease

(D} Diverticulitis

The inflammation and degenaration
ol iver parenchyma |s referred as

(A} Cirrhosis
(B) Jaundice
(C) Colitis
(D) Cystitis

Chovstlek's sign is an indication of
(A) Hyparmatrasmia

(B) Hypercalcaemia

(C) Hyponatraemia

(D) Hypocalcasmia

Hyperkalaemia leads to what
changes in ECG 7

(&) Inverted T waves

(B} Tall T waves

(C) Prolonged QT interval

(D) Wide QRS complex

160,

161.

162.

163.
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The amount of protein intake fo be
maintained during renal failure is

(A) 401080 g/day
(B) 60 to 80 g/day
(C) 201040 g/day
(D) 80to 100 g/day

The anzyma leval which is found
elavated after myocardial infarction is
(A) Serum creating

(B} Alkaline phosphatase

(C) Phospho kinase

(D) Creating kinase

The position to be maintained for a
patient with increased ICF is

(A) Fowlers position

(B) Trendelenburg's position

(C) Side lying

(D) Supine position

Warfarin acts as an anticoagulant by
blocking the synthesis ol

(A) RBC's

(B} Vitamin E

(C) Haemoglobin

(D) Vitamin K
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The fetal movement felt by the mother
during 20" week

(A) Lightening

(B) Quickening

(C) Crowning

(D} Labour pain

Violet coloration of the mucus
membrane of cervix and vagina at 4™
waek of pregnancy is termed as

(A) Chadwick's sign
(B) Hegar's sign
(C) Goodell's sign
(D) Rovsing's sign

Blood and debris discharge from the
uterus after delivery is termed as

(A) Septic shock
(B) Lochia

(C} Pyuria

(D) Hasmaturia

Occurrence of seizures during
pregnancy is termed as

(A} Eclampsia

(B} Pre-eclampsia

{C) Epilepticus

() Myoclonus

168.

169.

170.

171.

JOD-4/PHN/X-15

The realignment of fetal head with
the body after the head comes out

(A) Expulsion
(B) Descent

(C) Engagement
(D) Rastitution

An incision made into perineum 1o
anlarge the vagina during delivery
s

(A)  Amniotomy

(B) Episiotomy

(C) Caesarean

(D) Forceps Delivery

Premature separation of the
placenta from the uterine wall before
delivery Is

(A) Abruptio Placenta

(B) Placenta Previa

(C) Fetal Distress

(D) Cord Prolapse

The fatlure of uterus to return to its
normal size s

(A) Involution

(B) Sub Involution

(C) Protrusion

(D) Retraction
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175.

It a newborn's head and trunk is
allowed to fall backward it elicits

(A) Step- In Reflex
(B) Plantar Reflex
(C) Startied Reflex
(D) Moro Reflex

A new born who is above the
ap™ percentile on the Intrauterine
Growth Curve is termed as

(A) Post Term Baby

(B) Large for Gestational Age

(C) Small for Gestational Age

(D) Pre-term Baby

Crawiing of an Infant occurs al
(A) B to5 months
(B) 2to3 months
(C) 4to5 months
(D) 6 to8 months

The preferred site for giving IM
injection to infants is

(A) Gluteal

(B) Deltoid

(C) Vastus Lateralis
(D) Umblicus

176.

177,

178.
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The main drug of choice for Heart
Failure Is

(A) Decadran

(B) Digoxin

(C) Morphine

(D) Efcorlin

The procedure which involves giving
a synchronized counter-shock to
convert an undesirable rhythm to

stable rhythm is
(A} Defibritlation
(B) Cardiac Stimulalor
(C) Pacemaker

(D) Cardioversion

identify the calcium channel blocker
from the following.

(A) Nifedipine

(B} Atenolol

(C) Lasix

(D) Mannitol
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181.

182.

In Chronic Renal Failure all the
following noticed excapt

(A) Anasmia

(B} Hypocalcasmia

(C) Metabolic Acidosis

(D) Hyperkalaesmia

Ego works based on the
(A) Reality

(B) Pleasure

{C) Parfection

(DY Consclence

Gradual disappearance of

conditioned response 10 stimuli is
referred as

(A) MNegative conditioning

(B) Extinction

(C) Delayed conditioning

(D) Elimination

A defense mechanism that allows to
convert our unacceptable behavior
into a acceptable form is

(A} Introjection

(B) Sublimation

(C) Projection
(DY Displacerment
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184,

185.
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Father of Intelligence test is
(A) Alired Bingt

{BY Erick Erickson

(C) Alired Adler

(D) Carl Jung

The stage which keeps an individual
physically alert to face the danger

arising out of stress is termed
(A) Adjustment reaction

(B) Stage of resistance

(C) Exhaustion stage

(D) Alarm reaction

Elevated mood with increased

psychomotor activity Is a
characteristic feature of

(A) Mania

(B) Euphoria

(C) Bipolar Disorder

(D) Dysthymia
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Irrational fear related to closed
spaces Is referred as

(A} Acrophobla

(B) Agoraphobla

(C) Claustrophobia

(D) Nosophobia

Loss of personal identity and
wandering away from psychiatric
hospital is referred as

(A) Fugue

(B) Split personality

(G} Possession stale

(D) Trance State

The voltage needed to produce
seizures while giving ECT is

{A) 180 to 220 volts
(BY 40to 70 volts
(C) 150 to 180 volts
(D) 70 to 150 volts

The emotional state an individual
expeneance to the loss of loved object

15

(A) Grigf

(B) Mourning
(C) Bereavement

(D) Agony
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181.

192,

183,
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Release of feelings that takes place
by talking about an emotionally
charged areas is
{A) Clarification
(B) Abreaction
{C) Suagestion
(D} Exploration

Temporary discharge of the patient
from the psychiatric hospital is
referred as

(A} Parole

(B) Abscond

(C) Termination

(D) Escape

The drug which is used to create
aversion in Alcohol Dependence
(A) Apomorphing

(B} Propanolol

(C) Diazepam

(D) Disulphiram

Serene is an example of
(&) Antipsychotic

(B) Antidepressant

(C} Mood Stabilizer
(D) Anxiolytic
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. The recording of conversation

between the nurse and patient in a
psychiatric set up is termed as

(A) Therapeutic Communication
(B} Interview Technigue

(C) Process Recording

(D} Case Study

The function of gland which is
affected In lithium toxicity is

(A) Parathyrold

(B) Pituitary

(C) Adrenal

(D) Thyroid

A behavioral therapy of sudden, direct
and maximum exposure to the fear
producing stimulus

{A) Biofeedback

(B) Flooding

(C) Desensitization

(D) Response prevention
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The metal which Is commonly used
for family planning is

(A) Copper

{B) Aluminium

(C) Iron

(D) Silver

One PHC covers a population of
(A} 50,000

(B) 30,000

(C) 10,000

(D} one lakh

The Multi-Purpose Worker in
general serves a rural population of
(A) <500

(B) 1000

(C) 3000 ;

(D) 5000

The system of stering and
transporting vaccines is termed as
{A) Cold Chain

(B) Freezer Chain

(C} Cool Chain

(D) Vaccination
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IMPORTANT INSTRUCTIONS TO CANDIDATES

TufEawt S B eyt aEm

This booklet contains 48 pages.

Plaase check all the pages of the Booklat
caratully, In case of any delact, pleass ask
the Invigilater for replacement of the Bookiet.
Directions : Each question or incomplete
statement s followed by four alternative
suggested answers or completions. In each
casa, you are required o select the one that
carrectly answers the question or compleles
the statement and blacken (@) approprate
circle A, B, C or D by Blue / Black Ball-Point
Pen against the guestion concemed in the
Answear-Sheel. (For V.H. candidates
corresponding circle will be blackened
by the scribe)

Mark your answer by shading the appropriate
clicle against sach question. The circle should
be shaded compietely without lsaving any space.

mmmﬂ@nlm;mwnm.

O Rer or rorc) ox ors) oF Tore

The Candidate must mark hisfher rasponse
aftar careful consideration.

There s anly one correct answer to each
question, You should biacken (@) the circle
of the appropriate calumn, viz., A, B, Car D.
It you blacken (@) more than one circle
against any one question, fhe answer will be
treated as wiong. i you wish 10 cancel any
answer, you should completely erase that black
mark in the circle in the Answer-Shesat, and
then blacken the circle of revised respanse.

A maching will read the coded information

in the OMR Answer-Shesat. In case the
information is incomplets/different from the
information given in the application form, the
candidature of such candidate will be treated
a5 cancalled.

. Usa the space for rough wark given in the

CQuestion Booklet anly and not on the
Answer-Sheel.

_ You ame NOT required to mark your answers

in this Booklet. All answers must be
indicated in the Answer-Sheet only.
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